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There are in all 30 questions in this question paper. All questions are
compulsory.

Question No.1 to 8 carry one mark each. Question No.9 to 18 carry
two marks each, Question No. 19 to 27 carry three marks each and
Question No. 28 to 30 carry five marks each.

Question No.1 to 4 are multiple choice questions. Here four options
are given in each question. Write the correct option in your answer
book.

There is no overall choice in question paper, however, an internal choice
has been provided in two questions of 2 marks, three questions of 3’
marks and all questions of 5 marks each. You have to attempt only
one of the given choices in such questions.

Use log tables, if necessary. Use of calculator is not permitted.
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1.
In the following, which type of colloidal system is Fog -
(i) (i) 3t (iil) AT (iv) W
Aerosol Gel Emulsion Sol

5, B R o oefen faeaa & safia axar g -
In the following, which one reduces Fehling solution -
() rARe I (i) ISBH I (i) IATD 3 (iv) BIHG 30

Acetic acid Benzoic acid Oxalic acid Formic acid

T P+HI :
3. HfufPa CHOCH, + 4H —— 52X + HO A X & -

In reaction, C,H,0C,H, + 4H Re4P*H 5% 4 H 0, the X is -
(i) FuEae (i) e (iii) = (iv) &
Ethylene Ethane Propane Butane

4. WIANF=EAIafefm eI -
Beri-Beri disease is caused by deficiency of which of the following vitamin -
(y Tefm-e, (i) fefE-s, (i) fefm-8, (iv) =8,

Vitamin-B, Vitamin-B, Vitamin-B, Vitamin-B,

5. PVC @ Uhad adl ardl &?
What is the monomer of PVC?

6. [NiC,)* 3FgraId &, Fafd [Ni(CO),) Sfagrara &, F4i?

[NiCI,)?- is paramagnetic, while [Ni(CO),] is diamagnetic, why?

7. Frafofaa & exera saea & ged @0 A fofaw -
NH,, C,H,NH,, (C,H,),NH, C H.NH,
Arrange the following in decreasing order of their basic strength-

NH,, C,H,NH,, (C,H,),NH, C,H,NH,
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11.

14,

"] - ]
3T Tha vk @ Al & sTee? -
Dettol is an example of which type of drug?
¥l 12 30 TR ¥ 3 g9 z

Give the uses of Freon 12 and Chloroform.

. I:.“‘} B3 ""“\”Ji\tl foo T ﬁ Eilf“ éi 3% \"IC-':\I -‘3‘\33':" :"_-\ =N ..""*'; "'"7_?-

+.077x10 Q}:ﬂ MR U™ 10.5 TR -A-:ﬁ ot | 'd“r:il = u‘\"_-':“"- e T
M -

Silver crystallises in fee lattice. If the edge length of the cell 1s 2.077x10°f om.
and density is 10.5 gm cm* then calculate the atomic mass of silver.

s Fo vl v Piftee A iz e 2

Distinguish between Crystal Lattice and Unit Cell,

. d-®IP & P A T IH901 d@ T8 &2 SR |k fafae) 2

Which of the elements of d-block are not transition element? Write with reason

. PIRTS ST S 8 UMW (VR 40) B I # DR 800 ﬁauqa"r-rrr—n“a—“m

) TR F | Hfse!

8 gm Caustic Soda (Molar Mass 40) is dissolved in water and solution is made
to 800 cm?. Calculate the molarity of the solution.

3rr@l (OR)
T3ee @ fam oo &2 s & W sane|

What is Raoult's Law? Give its two limitations.

FreferRRaa der & fore 298 K R & a8 a1 (e.m.f.) B T DifSE- 2
Zn|Zn*+(0.01M)||Ag*(1.0M)|Ag

298 K R E{y=1.56 V

Calculate the e.m.f. of the following cell at 298 K -
Zn|Zn?*(0.01M)||Ag*(1.0M)|Ag

Eeny=1.56 V at 298 K

15. 3iavsiear e Rigrr @ Han ¥ weed|

Give a brief account of Valence Bond Theory.
| P.T.O.
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16. Wmmﬁﬁmmﬁﬁﬁ%?mﬁmﬁmaﬁum%ﬁmﬁ
mmﬁﬁmﬁmﬁmmwél ,

How to antiseptics differ from disinfectants? Name a substance which can be

used as antiséptics as well as disinfectants.

3ydr (OR)
afed AR - 1+1=2
Fr=t B 06 IR .
o) 9 S [+9]
@ g
Describe the following with an example -
(a) Artificial sweeteners (b) Food Preservatives
17, et &1 frem B : 2
(@) ofeTd TEiR13s (1) CH,=CHCI
(@) et FRISS (2)  CCIF,
(m faarsd TRES (3) CH,=CHCH,CI
(9) 3 ' (4)  CH,CH,CI
Match the following :
(a) Alyl Chloride (1) CH,=CHCI
(b) Benzyl Chloride (2)  CCLF,
(c) Vinyl Chloride (3) CH,=CHCH,CI
(d) Freon (4) C,H,CH,CI
18. AT au FLAa ageTd B SRRV Aied aHEd| 2
Define Natural and Synthetic polymers with example.
19. faga =A@ 4ol 7o At 2 9% Wy i fafkaul 3

What is Electrochemical series? Mention its important applications.

20. (&) fevse wvma @ &2
What is Tyndall effect?

(@) B ERIaEE & Pieige) e # W aeivmzs Rerem fremy v v &
e &, d? o
Coagulation takes place when Sodium Chloride solution is added to Colloidal
solution of Ferric Hydroxide, why?

3ydl (OR)

12
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(F) TORRR, AR a7 FaRrR) faeras qar a7

What are Isotonic, Hypotonic and Hypertonic solution?

(@) U faeae &I R e 3.2 8, s afd die g 20c W ds o =7 7 7

-

fradics R & 7F &t UM HIFSE (P BT HUUR=342) 1%

The Osmatic pressure of a solution, containing 45gm of sucrose cissoivec

per liter of solution at 20°C, is 3.2. Calculate the value of constant R.

(molecular weight of sucrose=342) https://www.ukboardonline.com

21, (@) aeavd) &1 Amifea i e gd ok 6 v arg &1 m foRed foreds frapdor 5
D! 39 Bl B 2

Draw a labelled diagram of Blast furnace and write the name of any one

metal for extraction of which this furnace is used.

(@) Yegfifram & e 3R o AW au 4 fefael 1

Write the name and formula of the chief ore of Aluminium.

i (OR)
ﬁ%%ﬁq@mﬁ%@a@%@lﬁ%%%ﬁﬁﬂmmﬁﬁ%
P qof BFTE For Imafe wsRer s afswel 3

Give the name and formula of two main ores of Iron. Describe the method to

obtain Cast Iron from one of its ore and give chemical reaction also.

22, FpefiEa w i R fofae - 1% +11%=3
Write short notes on the following -
(®) SEVHIT () LHTESt Bl IUTAT
Diazotisation Reduction of Amides
= & i ar
23. 293K R e P! O A 17.535 mm Hg &l 7 259 TN BN 4509 :
293K R el & A &€ IRepfera Biiore|  coutte e ¥ per
\ m Hg.
Vapour pressure of water at 293K is 17.535 m e 4509 Of W
Is
pressure of water at 293K when 25g of glucos€ o
I .
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.15ﬁﬁﬂﬁﬁﬁm$mﬁmmﬂw- s 1414123
= WIt{|ain the trends in property in Group-16 as given under -
(E;T e e (@) 3ERINTROT 3awRn

[onization Enthalpy Oxidation State

) S T

Electron Negativity

25. fire Y TS - C 1+1+1=3

Define the following -

(@) FTar A (@) MRS (m weH

Reducing Sugar Oligosaccharide Protein
26. (&) FAoRad & saaite foar fafa - 2
Write down the electronic configurations of the following -
i)  Cu* (i) Co?*
(@) ToR0T dd Fpet A Tl aara €2 1

Why do transitional elements form Complex compounds?

27. CH, [0 30 $ M= Traad! & ERa1 g3 an 3.9, 8. v.d. 9™ fafaw 3
Write structural formula and IUPAC name of three isomers of molecular formula
CH, O.

4 10
YAl (OR)
A 3 = Hffsam fafaw -
Write the following reactions of Phenol -
(B) BT & A== HNO, | fpan
Reaction of Pheno! with con. HNO,

(W) e affrar

Kolbe's reaction
() ER-EWA ffma

Reimer - Tiemann reaction

18, (@) sffsa & B A o awed 22 %2 Bife B 3fufsar a1 vs seRor A
B, snortaaar @ fea wor fig &2 3
What do you understand by order of reaction? Give an example of a
reaction of first order. How order of reaction differs from molecularity?

1+1+1=3

I. AL1A (IREw A
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() o Sa aan A £ fee sl o an Reri® fva R lbav 50 4
Trafea g 82 2
What is activation energy? How is the rate constant of a reaction related to

its activation energy?

3ET (OR)
(®) W Bie Hfwisa & fore vaiga R s B gty S

Derive the integrated rate equation of first order reaction.

(@) o g Biie Ftufom o faftre sfufmar am 2.31x 10 d@vs-: 21 39 sfifsar
D INE 3 Ta Dl 2

A first order reaction has a specific reaction rate of 2.31x10-? sec-.
Calculate Half life period of the reaction.

29. (@) Inedics foft g/ RS sva & Frfor & oo sl wefera s

Ai¥fcsan 1 weRor O Afe) sreRE w22 3

Describe the preparation of Nitric Acid by Ostwald process. Give chemical
equation of the related reaction also. What is aquaregia?

(@) BRBH g 3t sarTenen it Sfse qen wvafem afifsar s witewor 9 Rt

2
Give the laboratory method of preperation of Phosphine and also write

equation of the related reaction.
JAQT (OR)

(@) 3T HCI F C1,q Cl, | HCI $F M T2 daet st Ak 3

How can you prepare Cl, from HCl and HCI from Cl,? Write reactions only
(@) oo T wat A &2
Why are halogens coloured?

(M) 3 & " cl, 3 il fofaw

Write the reaction of Cl, with water.

1

%
W

30. UGB B ARG ‘A H 69.77% B, 11.63% R 3R 9 sifasiism 21 ::‘*.'.":::
FoTfae Fean 86 &1 7 At et aifieie @ armafia T8 @ 8, T TR
TR\
430 (IMX) [7] |RR

https://www.ukboardonline.com



Wﬂm%mmmmésﬁtmqﬁmﬁm%mt
3/ vae AR B R g Yo 3t AR S Jne e @1 AT ‘A Bt v
e Ao e Tt s € i) ;
An organic compound ‘A’ contain 69.77% Carbon, 11,63% Hydrogen and rest
is Oxygen. The molecular mass of the compound is 86. It does not reduce
Tollen's Reagent but forms an additional compound with Sodium Hydrogen
Sulphite and gives positive lodoform test. On vigorous oxidations it gives Ethanoic

acid and Propenoic acid. Write the possible structure of compound 'A’ and also
give chemical reactions.

Y4 (OR)
Frfafea sfufwant & Taate Tieor afga faiea- 1x5=5

Write the following reactions with chemical equations-

(@) firmré afiredie & g a6 w fan

Reaction of Grignard reagent with dry ice

(@) MWt UREEEs Bl St Juc

Hydrolysis of Acitic anhydride
(1) TEIAR-HIE Affdhar

Gatterman-Koch Reaction
(a) $ers Hfufdsan

Etard Reaction
(3) deeret Fue= iffchan

Aldol Condensation Reaction

LA B A J
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